AP R RENFET 5 (RI5) B 5 B #

SH6ETA6H (£|R)
Fx ENSEfashE: 1826 b

(B ILHEREST)
BE ox e HIFE R (ko) 1 #Y3E Xt ERE |
a—F AH Y5 | EREE] | Biike) | &EM) | S{EFM) | REFE) | SEFA) | $EE) | R{EM)
13010072V A [y 6,305
130100|7 W A JtimE 5,150 0 4,350 10 1,404 972
13010072V A Fi 1,095 0 1,095 15 1,512 1,296
130340 ICA LA HE 24,470
130340 ICA LA FiH 16,000 0| 16,0001 10 2,808 1,296
130340 ICA LA FfE 4,750 0 4,750 10 1,944 216
130340 ICA LA Ri& 2,400 0 2,400 10 2,592
130400| 1% 5 HE 1,246
13040021 5 Fix 800 0 800 10 1,566
1304001 5 =323 410 0 310 10 3,240 3,078
130600|1LA Z A iy 385
130600{1 A T A Ee 385 0 385 1 1,728 756
131100|H 3 iy 19,140
131100| B3 RE 18,440 0] 17,940 15 1,728 918
131700|F v+ R [y 31,140
131700(%F v~ HE 24,300 0| 21,810 10 864 130
131700|F v+ R R 6,580 0 6,580 10 1,242 648
131700(%F v~ & 260 0 260| 10 972
131800(IF S MAE [y 2,448
131800(I1F 53 A E I & 2,160 0 2,088 3.6 3,240 1,080
131800(IF S MAE & 199 184 15| 0.2 227 113
131910|F & HE 1,384
131910|Fh & KR 20 0 20| 0.045 65 62
131910|F & fi] 1Ly 320 0 320 1 756 216




131910(Fh & EiE 80 0 75 5 3,240 2,700
131950|H A& ¥ 2,600

131950(BE & I 1,320 1,320 5 1,264 778
131950|H A& SER 1,040 819 3 1,404 648
133400|L % & ¥ 19,500

133400 L % X g 19,500 0] 16,760 10 1,598 648
134100|8A/K T3 13,297

134100 (#A K time 600 0 600 5 2,376 1,998
134100|8A/K 'BE 2,410 0 1,000 5 2,592 2,052
134100|8AM BE 433 0 403 5 2,160 1,026
134100|8A/K &I 1,460 0 1,460 5 2,484 1,188
134100 (#A K i 5,975 0 5,400 5 2,160 1,080
134100|8A/X =y 1,265 0 1,265 5 1,782 1,242
134200|F /I ¥ 310

134200|F /M R 160 0 160 10 2,862
134300(71F ToE 5,845

134300|50F EE 270 0 270 5 1,944 864
134300(71F "R 623 0 623 5 1,836 1,037
134300|50F wE 1,941 0 1,941 5 2,268 1,080
134300(71F i 926 0 926 0.4 146 86
134400 b~ b ¥ 17,277

134400| k< b KB 13,977 0] 13,694 0.85 360

134400 b~ b wE 1,072 0 1,072 4 1,620 540
134400| k< b B 1,344 0 1,344 1,944 832
134400 b~ b REA 354 0 330 1,296 1,188
134500 &' —~ >~ ¥ 8,340

134500 "=~ ~ BE 3,747 0 3,747 10 3,672

134500 &' —~ > = A 243 0 63 0.15 38 27
134500 "—~ ~ PN 4,275 4,275 0.15 67 43
134700158 A2 L ¥ 1,263




134700(&> A2 L & 603 0 603 5 1,588 432
134700158 A2 L BE 660 0 660 5 1,512 864
135100 W AT A ¥ 64

135100| W A LT A JuiBE 10 0 10 2 7,020 5,400
135100 WA F A K% 10 0 4 2 4,644

135100| W A LT A il 1L 10 0 10 2 3,240

135100 WA F A =N 10 0 10 2 2,160

135500( 2722 ¥ 222

135500|2 722 Iz & 158 0 158] 0.18 167 90
135500( 2722 KER 40 0 40 0.2 140 130
1361001 A L & ¥ 1,272

136100(AA L & BE 935 885 5 2,700 1,188
1361001 A L & = I 337 337 5 1,458 972
136200\ %& ¥ 2,100

136200| &5 R 1,800 0 1,800 10 3,532 2,722
136210( X —7 1 ~ ¥ 500

136210| X —27 4 >~ R 400 0 400 10 1,426
136300|2F TeE 210

136300| 2% BRS 160 0 160 2 1,512 648
136600|7z & ¥ 17,835

136600|7- A & BE 17,835 0| 17,835 10 3,024 810
138100(& L W /o lF ¥ 1,036

138100|& L Wiz lF fig Ly 174 174 0.1 65 49
138100(& L W /o lF BE 766 748 0.1 151 54
138500| L& LE ¥ 4,444

138500(L® LE g 2,153 0 1,644 0.2 78 66




AP R RENFET 5 (RI5) B 5 B #

SF6ETH6H (LhEH)
BE ENSEHEE 28.8
(s LEBEREST)
iGN P i HFEHE (ko) 1 Ty
A—k AR #Y5E | BRERE | Hfike) (M) = fEE) 2 (M)
240110|/\ 7 RAMA  [H%K 188
240110|/N 7 R B A =40 55 of 5
240110|/\ 7 R A& A 8 133 32 18
242320 3 FT— L F [ 2,990
242320\ 3 FS3—L KR | 5% 2,990 830| 10 5,184 3,780
242830(5 LY AT o 5,280
242830(5 LY A B 5,280 3,190[ 10 7,020 4,104
244200|F4%EH boese 1,148
244200\ 4 H B Mgt 1,136 1,109 5 4,860 3,780
24453019 % % boese 1,654
244530(4 6 % Mgt 64 0| 05
244530(¢ H b ¥ 1,120 1,120 05 410 324
244530(4 6 % L 321 321 0.5 324 292
24522075 = 7 o 558
245220|7 5 = 7 i 12 12 2 5,400 4,320
245220|7 5 = 7 KBR 546 546| 0.3 389 281
245230|EI&3RE S o8 411
245230(EB.E S &l 411 366 1.4 3,110 2,506
285240|EH — 2 RE S [HK 191
245240\ A —%RE S | Ml 105 105 5 16,200 7,560
2845240|EH —2RE S | B 86 86| 1.4 2,678 2,506
247100| 7 — L X X B Y ¥ 731
2471007 — L2 40Oy | &M 333 333 13,500 4,320
2471007 —n X X B> 2 104 104 3,780 3,240




247100| 77—/ R A AV =% 294 294 10 3,240 2,160
287420\ 7 v T A A O Y |#E 360

247420\ 7 v T A A AV L 360 360 5 2,700 2,484
2474917 4 v > — X O N 150

2474917 A4 v — A0 Tk 150 150 5 1,512

247568| X h I XAV bioese 3,885

2475682 Hh I A B B3 3,885 845 5 2,052 1,080
248300781 HoEK 11,403

248300|7a /1 Z A 2,010 2,010 15 4,104 1,512
248300| a0 BE 9,393 9,393] 1556 10,800 1,944




